PUR-1453

Uniforms for Washington County Sheriff's Officers

Item No.	Item Description	Quantity	Galls, LLC K	Lexington,	Howard Uniform Company Baltimore, MD	
			Price Per Unit	Total Price	Price Per Unit	Total Price
1	Uniform Dress Blouses (#646-114)	25	NO BID	NO BID	\$585.00 *	\$14,625.00
2	Class "A-B" Trousers (#8330-610)	75	NO BID	NO BID	\$159.00 *	\$11,925.00
3	Class "A-B" Long Sleeve Shirts (#6038-35386)	75	NO BID	NO BID	\$154.00 *	\$11,550.00
4	Class "B" Short Sleeve Shirts (#6038-35386)	100	NO BID	NO BID	\$143.00 *	\$14,300.00
5	Patrol Jacket (#48027)	25	\$230.76 *	\$5,538.24	\$259.00	\$6,475.00
6	Winter Jacket (#6120)	15	NO BID	NO BID	\$162.00	\$2,430.00
7	Port Authority Legacy Jacket (#J764)	15	\$60.00 *	\$660.00	\$45.00 *	\$675.00
8	Port Authority Legacy Jacket (#L764)	25	\$44.00 *	\$924.00	\$45.00 *	\$1,125.00
9	Straw Hat	25	\$106.00	\$2,650.00	\$104.00	\$2,600.00
10	Felt Hat	25	\$148.00	\$3,700.00	\$137.00	\$3,425.00
11	Class "C" Trousers (#8810X)	100	NO BID	NO BID	\$106.00 *	\$10,600.00
12A	Class "C" Long Sleeve Shirts (#5038-B499)	100	NO BID	NO BID	\$87.00 *	\$8,700.00
12B	Class "C" Short Sleeve Shirts (#5038-499)	100	NO BID	NO BID	\$83.00 *	\$8,300.00
13	CLASS "C" TROUSERS (#74003 TDU)	25	\$46.00	\$1,150.00	\$44.00	\$1,100.00
14A	CLASS "C" LONG SLEEVE SHIRT (#72054)	25	\$46.00	\$1,150.00	\$86.00	\$2,150.00
14B	CLASS "C" LONG SLEEVE SHIRT (#72054T)	25	\$52.00	\$1,300.00	\$93.00	\$2,325.00
14C	CLASS "C" SHORT SLEEVE SHIRT (#72054)	25	\$46.00	\$1,150.00	\$82.00 *	\$2,050.00
14D	CLASS "C" SHORT SLEEVE SHIRT (#72054T)	25	\$52.00	\$1,300.00	\$88.00 *	\$2,200.00
15A	NECKTIES – 18" LENGTH AND SHORTER	25	\$8.00	\$200.00	\$6.00	\$150.00
15B	NECKTIES – 20" LENGTH AND SHORTER	25	\$8.00	\$200.00	\$6.50	\$162.50
15C	NECKTIES – 22" LENGTH AND LONGER	25	\$8.00	\$200.00	\$7.00	\$175.00
(TOTAL SUM BID ITEMS 1 through 15C)				\$20,122.24		\$107,042.50

Item

No. Remarks/Exceptions

Galls, LLC

- 5 Sizes 3X-6X \$261.16
- 7 Size 2X \$62.00, Size 3X \$66.00, Size 4X \$68.00, Size 5X \$74.00
- 8 Size 2X \$46.00, Size 3X \$48.00, Size 4X \$50.00
- Pg. 21 Section 16 Galls does not provide repairs. We have included our warranty for information about replacing items.

Galls, LLC Standard Warranty - All products will fall under the manufacturer's standard warranties. In addition, Galls offers a "No Hassle Guarantee" on returned merchandise. This means that if you are unhappy for any reason with your purchase, you may return it to Galls for an exchange or refund within 1 year from purchase date.

Howard Uniform Company

- 14C #71339 per specs
- 14D #71339T per specs

See attached 3 pages



Howard Uniform Company

1915 Annapolis Rd. • Baltimore, MD 21230 (410) 727-3086 • FAX (410) 727-3142

Uniforms for Washington County Sheriff's Officers PUR-1453 / Due: 1/8/20 @ 2pm

Exceptions

Item 12A and 12B - Class C L/S Shirt and Class C S/S Shirt

- We did not realize until recently that these were Red The Tailor custom items and Hope Uniforms will not be carrying the fabric to make these shirts nor do they have plans to offer it in their line.
- In lieu of the discontinued item for Item 12A, we are offering Blauer 8670 (L/S) which is a 100% Dacron polyester shirt in French blue
- In lieu of the discontinued item for Item 12B, we are offering Blauer 8675 (S/S) which is a 100% Dacron polyester shirt in French blue
- Blauer shirts are not made in the USA.

Item 11 - Class C Trousers (8810X)

- Since we are offering Blauer shirts for Items 12A and 12B, we will obtain that shirt fabric to make the 1 1/8" striping required on this pant so that it matches with the Class C shirt we are proposing.

Item No. 7 and 8 - Port Authority Legacy Jackets

 Please note that Port Authority has discontinued Millenium/Navy color in this jacket (both mens and ladies styles). The color options for this jacket are Black/Steel Grey or Dark Navy/Red.

Delivery Time Frame

 As clarified by Addendum 1 – delivery time frame will be 60-100 days on custom items but could go longer due to fabric availability. Also as clarified by Addendum 1 – we cannot agree to any liquidated damages based on delivery time frame.



HOWARD UNIFORM COMPANY

1915 Annapolis Rd. • Baltimore, MD 21230 (410) 727-3086 • FAX (410) 727-3142

Uniforms for Washington County Sheriff's Officers PUR-1453 / Due: 1/8/20 @ 2pm

Notes / Oversize Charges

Items No. 1 thru 4 - Uniform Dress Blouse, Class A-B Trousers, and Class A-B Shirts

- Please note that Howard Uniform is utilizing Hope Uniforms as the supplier for made to measure garments. Hope Uniforms has been a long-term player in the uniforms industry and has recently developed the patterns and in-house capabilities to offer made to measure garments similar to what Red The Uniform Tailor used to offer.
- Howard Uniform has the in-house capability to make custom trousers and custom dress blouses, however, we do not offer custom/made to measure shirts. For consistency, we will be utilizing Hope Uniforms for all Uniform Dress Blouses, Class A-B trousers, and Class A-B Shirts. We fully expect that Hope Uniform made to measure products will meet your approval. However, if for any reason they do not, then we can offer you Howard Uniform samples for blouse coats and trousers only and will have to present you with stock shirt options from other uniform brands.

Item No. 1 - Uniform Dress Blouses - Prices based on ranks

Captain (\$595), Major (\$605), Colonel (\$615), Sheriff (\$625)

Item No. 2 - Class "A-B" Trousers

 Add \$20 per trousers if the optional route book cargo pockets (stated on page 25 of the specifications are required.

Item No. 3 and 4 - Class "A-B" Long or Short Sleeve Shirt - Detention Version

Add \$7.50 per shirt for dark blue epaulets on the Detention Shirt

Item No. 7 and 8 - Port Authority Legacy Jackets

Oversize charges: 2XL (Add 10%), 3XL (Add 20%), 4XL (Add 30%)



Howard Uniform Company

1915 Annapolis Rd. • Baltimore, MD 21230 (410) 727-3086 • FAX (410) 727-3142

Uniforms for Washington County Sheriff's Officers PUR-1453 / Due: 1/8/20 @ 2pm

Repair of Garments Charges (as requested on Page 19)

Repair	Charge		
Repair trousers side seams or hem	\$12.00		
Repair trousers zipper	\$18.00		
Repair shirt seams	\$12.00		
Replace plastic button on shirt	\$2.50 each		
Blouse Coat Repair	To be quoted based on work required		